R0O015327 Level Frame and quality Check

quality checks and frame levelling

@ Difficulty Medium ® Duration 1.5 hour(s)

Contents

Introduction

Step 1 - Clean Threads
Step 2 - Add levelling bolts
Step 3 - Check projection
Step 4 - Check parallel
Step 5- Level Y axis

Step 6 - Level X axis

Comments

Introduction

Tools Required

2 meter straight edge

1 meter steel rule

300mm engineers level
Standard spanner set
Copper grease

Standard tap set

Tape Measure

Standard ratchet/socket set

Parts Required
Workshop consumable floor pads
D0004576e frame x 1

M12 x 100 set bolts x 4
M12 Standard nut x 4

Step 1-Clean Threads

Clean all threads in frame using standard taps

Page 1/15



Page 2/15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_083913.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_083922.png

Page 3/15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_083929.png

Step 2 - Add levelling bolts

Fit 4 off M12 set bolts with M12 nut and copper slip to frame for levelling

Position black levelling pads beneath each bolt

Page 4/15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_083935.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_083942.png

Page 5/ 15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085201.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085207.png

i
!

Page 6/ 15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085213.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085217.png

Step 3 - Check projection

check indicated projection using 2 meter straight edge
check all 4 points

150mm -+ 2mm

Page 7/ 15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085223.png

Page 8/15


https://stuga.dokit.app/images/thumb/9/95/R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094022.png/ia-b0b089278f177b7a926b07e01ec8615e-1000px-R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094022.png.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085414.png

Page 9/15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085409.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085359.png

Step 4 - Check parallel

Use 1 meter steel rule or tape measure to check parallel of faces indicated

Report any deviation to supervisor

Page 10/ 15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085419.png

Page 11/ 15



https://stuga.dokit.app/images/thumb/e/ea/R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png/ia-20b3ddb510b613df94489567a15c9c06-1000px-R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085635.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085646.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085653.png

‘r, I Jlﬁ ||.I

o' -

Page 12 /15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085703.png

Step 5 - Level Y axis

Use M12 bolts to level frame on the Y axis . Use indicated area to set level of frame

Ensure levelling face is flat

Step 6 - Level X axis

Level X axis using indicated faces
Ensure Y axis level is maintained when adjusting X axis

Take an average over the 4 indicated points to set x axis level

Page 13 /15


https://stuga.dokit.app/images/thumb/e/ea/R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png/ia-ab3c34af8f9cba36b778893b53dfaea4-1000px-R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png.png
https://stuga.dokit.app/images/thumb/8/8d/R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094454.png/ia-42df8f472aaa55b163c4c4641e7d4788-1000px-R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094454.png.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085817.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085812.png

Page 14/ 15


https://stuga.dokit.app/images/thumb/e/ea/R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png/ia-5e15ac186c6835a3766eb8b84309872f-1000px-R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png.png
https://stuga.dokit.app/images/thumb/e/ea/R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png/ia-c9d36e0802d9236d4fff1a751b76e7c4-1000px-R0015327_Level_Frame_and_quality_Check_Screenshot_2023-10-20_094223.png.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085859.png
https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085905.png

Page 15/ 15


https://stuga.dokit.app/wiki/Fichier:R0015327_Level_Frame_and_quality_Check_Screenshot_2023-11-03_085910.png

	R0015327 Level Frame and quality Check
	Contents
	Introduction
	Step 1 - Clean Threads
	Step 2 - Add levelling bolts
	Step 3 - Check projection
	Step 4 - Check parallel
	Step 5 - Level Y axis
	Step 6 - Level X axis


